Lecture 12 notes.

2/24/09

Andrew Cox

Our exam will take place on March 5th.

Use posted notes and previous homeworks to study.

Covered chapters: 1-9

Using Table Designer:

Objects should be named in all uppercase.

Attributes can be clicked and dragged into objects.

Entire tables can also be dragged into one another.

Table Designer supposed to be gotten from www.coolstrategy.com but site was down.

Dr. Adams let us copy Table Designer from her laptop to our flashdrives. If you didn’t get a copy, you can see her tomorrow or contact ewersjl@jmu.edu as long as you have 9mb free in your inbox.

Went over slides on semantic objects:

Comments by slide:

4) Be prepared to identify a diagram like this on the exam.

5) Attributes have minimum and maximum cardinalities. Cardinalities are in the format N.M where N = minimum and M = maximum.

6) See figure 4.6 on page 87.

Went over examples of cardinalities on this slide, ex. CampusAddress doesn’t have to exist, but if it does, it’s attributes must also exist.

7) Same diagram as above, but with specific examples of object instances.

8) There are no one-way object relationships. The program should handle all the relationships for you.

9) Identifier could be name, email, ID number, etc.

Physical: currency, text, int, enum, etc. Basically the data held by an attribute.

Semantic: The meaning of the attribute.

11) Examples of multivalue attributes: C++ Structs, Java classes, records

12) There are 7 object types.

Consider what type of environment you are building the database for.

Right now we are only worrying about the first 3 types.

13) See page 95, green and yellow stuff.

14) It is a simple task to convert from a simple object to a relation. The software can use this to generate an Access or SQL table.

15) The green part in the diagram is required.

Once a LineItem exists, it’s attributes are required.

You don’t need to store TotalPrice in the database, it can just be computed from existing information.

16) See page 95 b

InvoiceNumber ties the tables together.

Can’t fill LineItem unless InvoiceNumber already exists

17) See page 96 figure 4.17

R2 is Names, and must exist.

R3 is Services, and is not required to exist.

18) See page 97 figure 4.18

R1 is InvoiceNumber, and must exist.

G1/R2 is LineItem, and is not required to exist.

G2/R3 is ServiceDescription, and must exist if LineItem exists.

Food is the only attribute here that is broken down.

SubDescription and SubPrice should be 0.1

IMPORTANT! Diagrams in the book and on this slide DO NOT CORRESPOND.

See page 98, table on employees and vehicles.

Compound objects contain at least one object attribute.

20) Locker is the foreign key, it relates the tables.

21) It doesn’t matter which attribute is a foreign key in the other.

22) Compound objects with 1:N or N:1

24) Example of N:M compound objects: Books and Authors

***HOMEWORK***

Page 115, project A

Make a semantic object model using Table Designer.

Use same groups as last assignment.

